
NMaximize@
82000 xn + 3000 xk, 8xn + 2 xk £ 10, 2 xn + 2 xk £ 12, 2 xn £ 8, xn ³ 0, xk ³ 0<<, 8xn, xk<D

816 000., 8xn ® 2., xk ® 4.<<

p1 = ContourPlot@2000 xn + 3000 xk, 8xn, 0, 10<, 8xk, 0, 10<,

ContourShading ® None, FrameLabel ® Automatic, ContourLabels ® TrueD;

p2 = ContourPlot@2000 xn + 3000 xk � 16 000, 8xn, 0, 10<,

8xk, 0, 10<, ContourStyle ® 8Green, Thick<D;

p3 = ContourPlot@8xn + 2 xk � 10, 2 xn + 2 xk == 12, 2 xn == 8<,

8xn, 0, 10<, 8xk, 0, 10<, ContourStyle ® 8Red, Blue, Purple<D;
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